
TRIUMPH TRIDENT 660
279S-021-250-VAR

12/07/2021								                              ISSUE 1

OWNER’S MANUAL



RAZOR SHOCK ABSORBER

INTRODUCTION

2

CONTENTS

Page 2    
Page 3-4       
Page 5
Page 6-7    

Introduction/Service

Adjustment

Fitting the shock

Setings/Notes

Multiple adjustment, improved control, refinement and awesome looks
make K-Tech Razor shocks a leap beyond standard equipment.

The Razor range of shock absorbers are available in multiple lengths with up 
to 4 way adjustability allowing you to customise your motorcycle for looks and 
riding style.

- Increased comfort and control
- Up to 4 way adjustability
- Nitrogen Filled (N2)
- Anodised black finish
- Optional spring rates

2

K-Tech Suspension Ltd products are manufactured to fit specific 
brands and models. Under no circumstances should any K-Tech Sus-
pension Ltd products be fitted to an application other than that for 

which it has been designed, tested and manufactured.  



2

ADJUSTMENT

33

RAZOR SHOCK ABSORBER

Compression damping:- 
Black Adjuster Knob:- 30 clicks 
adjustment range. All settings should be 
made from the fully closed 
(Clockwise Position).

Rebound damping:-
Bottom Adjuster Wheel:- 32 clicks 
adjustment range. All settings should be 
made from the fully closed 
(Clockwise Position).

Spring preload:- 
To adjust -unscrew the pinch bolt on the 
bottom spring collar using a 3mm Hex 
Key. Turn the bottom collar using tool 
213-235-315 (1 turn = 1.5mm).

	    Secure by tightening the 		
	    pinch bolt to 5Nm 

 12 

 12 

 6
 

 3
8 

 1
80

 S
PR

IN
G

 
(1

73
 F

ITT
ED

)

 3
87

 + -6 4 

 7
7.

50
 

RE
F.

 F
O

R 
SP

RI
N

G
 P

RE
LO

A
D

F

F

 30 

 24 

 4
.2

5 

 1
68

 

 3
2 

 2
2.

05
 

 6
3.

25
 

 3
 

 5
2 

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

1

BILL OF MATERIALS
11/04/2019SAM

WEIGHT: 

A3

SHEET 1 OF 12SCALE:1:2.2

DWG NO.

TITLE:

REVISIONDO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
Ra ≤ 1.6 FOR TURNING
Ra ≤ 0.8 FOR VERTICAL AND 
               HORIZONTAL MILLING.

Q.A

MFG

APPV'D

CHK'D

DRAWN

QMF49-DT ISSUE1 01-10-12

REVISION NUMBER DETAILS:SPEC CARD INFORMATION
SPRING: 46-180-150
PRELOAD: 7
GAS PRESSURE: 10 Bar
COMPRESSION: 14
REBOUND: 16

STAGE 1 STAGE 2

279S-017-155-015-1

KTM 790
279S-017-155-015 12 

 12 

 6
 

 3
8 

 1
80

 S
PR

IN
G

 
(1

73
 F

ITT
ED

)

 3
87

 + -6 4 

 7
7.

50
 

RE
F.

 F
O

R 
SP

RI
N

G
 P

RE
LO

A
D

F

F

 30 

 24 

 4
.2

5 

 1
68

 

 3
2 

 2
2.

05
 

 6
3.

25
 

 3
 

 5
2 

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

1

BILL OF MATERIALS
11/04/2019SAM

WEIGHT: 

A3

SHEET 1 OF 12SCALE:1:2.2

DWG NO.

TITLE:

REVISIONDO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
Ra ≤ 1.6 FOR TURNING
Ra ≤ 0.8 FOR VERTICAL AND 
               HORIZONTAL MILLING.

Q.A

MFG

APPV'D

CHK'D

DRAWN

QMF49-DT ISSUE1 01-10-12

REVISION NUMBER DETAILS:SPEC CARD INFORMATION
SPRING: 46-180-150
PRELOAD: 7
GAS PRESSURE: 10 Bar
COMPRESSION: 14
REBOUND: 16

STAGE 1 STAGE 2

279S-017-155-015-1

KTM 790
279S-017-155-015



4 4

ADJUSTMENT

Shock length:- 
To adjust the shock length loosen the 
silver lock nut at the bottom of the shock 
with a 22mm open ended 
spanner whilst holding the rod joiner  
(black 22mm hex) with another 
spanner.

Shock length:- 
Turn the end eye assembly until you get 
the desired length. 
(1 turn = 1mm adjustment.) 

Shock length:-
When you have changed the shock 
length wind the silver lock nut up to the 
black rod joiner and torque to 30Nm.

Make sure you cannot see the 
groove on the thread.

RAZOR SHOCK ABSORBER



4 55

FITTING THE SHOCK
This procedure should only be carried out by a qualified motorcycle 
technician. K-Tech Suspension Ltd will not be liable for any dam-
ages caused to or by the product, nor be liable for any injuries sus-
tained if the product is fitted by an un-authorised dealer of K-Tech 
Suspension Ltd. K-Tech Suspension Ltd will not be liable for any 
damages if the correct tools are not used throughout the entire pro-
cess of fitting and adjusting the Shock.  
	 Please refer to the manufacturer’s workshop manual before 
attempting this procedure. This procedure will require two people. 
You will need to remove all relevant bodywork and any other parts 
that may restrict you from carrying out this task safely.

Place and secure the motorcycle on an appropriate stand so that the wheel is 
approximately 5cm off the ground. Loosen the top and bottom mounting bolts 
using the correct spanners. With one person holding the rear wheel in a sta-
tionary position the second person can remove the top bolt, it may be neces-
sary to slightly move the rear wheel up and down whilst 
removing the top bolt. Keeping the rear wheel in a stationary 
position the second person can now remove the bottom bolt, it will be 
necessary to hold the shock whilst doing this. Remove the shock from the 
bike keeping the rear wheel stationary while doing so. 

You are now ready to fit the K-Tech Razor shock.
Place the shock into the bike, fitting the bottom mounting bolt first. It may
be necessary for the second person to slowly move the rear wheel up or
down for you to insert the bolt through any linkages.
Fit the top mounting bolt and torque both top and bottom bolts to the
manufacturer’s recommendations.
To attach the remote reservoir, remove pillion footrest hanger bolts and fit the 
reservoir bracket in between the hanger and the rear subframe. 
Re-use the original bolts for the footrest hanger and torque to manufacturer’s 
recommendations. 
Take a slow test drive to make sure that everything is correct.

RAZOR SHOCK ABSORBER



6 6

SETTINGS

RECOMMENDED SETTINGS

Shock length
Shock stroke

Comp damping 
Reb damping 
Gas Pressure

RECOMMENDED:

          304(-7/+3)mm
 55mm

12 Clicks Out
14 Clicks Out

10 bar

1

SERVICE

K-Tech Suspension Ltd recommend that this product is serviced every 
10,000 miles of use. It is very important that this product is serviced by an 
authorised dealer, as there are special tools required to guarantee correct 
performance of this product. K-Tech Suspension Ltd cannot be held re-
sponsible for any damage caused to/by the product if a service is overdue 
or was not conducted by an authorised dealer.

RAZOR SHOCK ABSORBER

235-110-1032

235-635-001

235-141-010

255-157-001

235-110-1030

235-106-010

235-110-1030

235-106-010

46-150-VAR

235-310-015
235-312-001

235-106-010

235-106-010
235-110-1032

235-900-604

235-637-001

255-140-001

PRESSED IN

3Nm

30Nm 

PRESSED IN

235-638-001

235-635-078

170-041-015

235-312-001
235-310-015

2019< RAZOR-R RCU's
279S-021-270-020

STAGE 3

2019< RAZOR-R RCU's
279S-021-250-010

STAGE 3
VARIABLE PARTS

3   Fit Spring Collar/s and set to reference height. Use Spring Compressor to fit 
         Main Spring and Spring Seat.  

1  Fit End Eye Assembly & set shock height using Shock Measurement Tool 213-500-000L.

2   Fit Warning Sticker onto Shock Body and product sticker to - See Sticker Positions. 

4   Press-in Bearing Spacers, Fit Compression Adjuster Knob & Fit Remote Reservoir Bracket.

UPDATE BOM CONFIGURATION

UPDATE BOM CONFIGURATION

Hand Tight 
After Preload is 

Set. Use Tool 
213-235-305

Check All Sub-Assembly Numbers

Check All Sub-Assembly Numbers

PART No. SPRING RATE N/mm PRELOAD REF HEIGHT 
PRELOAD

279S-021-250-009 46-150-90 90 12mm 14mm
279S-021-250-010 46-150-100 100 10mm 12mm
279S-021-250-011 46-150-120 120 8mm 10mm
279S-021-250-012 46-150-140 140 6mm 8mm

ITEM NO. PART NUMBER DESCRIPTION QTY.
1     235-110-1030 BEARING SPACER 10 x 30mm 2
2     235-106-010 SHOCK BEARING DUST SEAL 2
3   235-300-130 SHOCK BODY 130mm 1
4   235-501-010 SEAL HEAD RETAINING CLIP 1
5   235-312-001 M4x16 SCREW 2
6   235-310-015 RCU SPRING SEAT SCREW TYPE 2
7   235-116-010 RESERVOIR RETAINING CLIP 1
8   235-141-010 ADJUSTING KNOB 1

9   255-157-001 A2 - M3 x 6 BUTTON HEAD SCREW 
PIN TORX 1

10   255-140-001 A2 - M4 X 5 BUTTON HEAD SCREW 
PIN TORX 1

11   170-041-015 O-RING 4.1 x 1.5  NBR70 1
12   235-635-078 RES BRACKET TRIUMPH TRIDENT 660 1

13   235-104-001 M5 x 8 FLAT HEAD COUNTERSUNK 
SCREW 1

14     235-110-1032 BEARING SPACER (10 X 32mm) 2
15     235-106-010 SHOCK BEARING DUST SEAL 2
16   235-635-001 RESERVOIR BRACKET CLAMP 1
17   235-638-001 M6 x 30 BUTTON HEAD STAINLESS 1
18   235-637-001 M6 x 16 BUTTON HEAD STAINLESS 1
19 235-900-604 END EYE ASSY 45 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

2019< RAZOR-R RCU's
279S-021-250-010

279S-021-250-VAR-1

PRODUCTION SHEET

WEIGHT: 

A3

SHEET 7 OF 12SCALE:1:5

DWG NO.

TITLE:

QMF49-DT ISSUE1 01-10-12

SPRING COLLARS



6 557

RECOMMENDED:

RAZOR SHOCK ABSORBER

235-110-1032

235-635-001

235-141-010

255-157-001

235-110-1030

235-106-010

235-110-1030

235-106-010

46-150-VAR

235-310-015
235-312-001

235-106-010

235-106-010
235-110-1032

235-900-604

235-637-001

255-140-001

PRESSED IN

3Nm

30Nm 

PRESSED IN

235-638-001

235-635-078

170-041-015

235-312-001
235-310-015

2019< RAZOR-R RCU's
279S-021-270-020

STAGE 3

2019< RAZOR-R RCU's
279S-021-250-010

STAGE 3
VARIABLE PARTS

3   Fit Spring Collar/s and set to reference height. Use Spring Compressor to fit 
         Main Spring and Spring Seat.  

1  Fit End Eye Assembly & set shock height using Shock Measurement Tool 213-500-000L.

2   Fit Warning Sticker onto Shock Body and product sticker to - See Sticker Positions. 

4   Press-in Bearing Spacers, Fit Compression Adjuster Knob & Fit Remote Reservoir Bracket.

UPDATE BOM CONFIGURATION

UPDATE BOM CONFIGURATION

Hand Tight 
After Preload is 

Set. Use Tool 
213-235-305

Check All Sub-Assembly Numbers

Check All Sub-Assembly Numbers

PART No. SPRING RATE N/mm PRELOAD REF HEIGHT 
PRELOAD

279S-021-250-009 46-150-90 90 12mm 14mm
279S-021-250-010 46-150-100 100 10mm 12mm
279S-021-250-011 46-150-120 120 8mm 10mm
279S-021-250-012 46-150-140 140 6mm 8mm

ITEM NO. PART NUMBER DESCRIPTION QTY.
1     235-110-1030 BEARING SPACER 10 x 30mm 2
2     235-106-010 SHOCK BEARING DUST SEAL 2
3   235-300-130 SHOCK BODY 130mm 1
4   235-501-010 SEAL HEAD RETAINING CLIP 1
5   235-312-001 M4x16 SCREW 2
6   235-310-015 RCU SPRING SEAT SCREW TYPE 2
7   235-116-010 RESERVOIR RETAINING CLIP 1
8   235-141-010 ADJUSTING KNOB 1

9   255-157-001 A2 - M3 x 6 BUTTON HEAD SCREW 
PIN TORX 1

10   255-140-001 A2 - M4 X 5 BUTTON HEAD SCREW 
PIN TORX 1

11   170-041-015 O-RING 4.1 x 1.5  NBR70 1
12   235-635-078 RES BRACKET TRIUMPH TRIDENT 660 1

13   235-104-001 M5 x 8 FLAT HEAD COUNTERSUNK 
SCREW 1

14     235-110-1032 BEARING SPACER (10 X 32mm) 2
15     235-106-010 SHOCK BEARING DUST SEAL 2
16   235-635-001 RESERVOIR BRACKET CLAMP 1
17   235-638-001 M6 x 30 BUTTON HEAD STAINLESS 1
18   235-637-001 M6 x 16 BUTTON HEAD STAINLESS 1
19 235-900-604 END EYE ASSY 45 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

2019< RAZOR-R RCU's
279S-021-250-010

279S-021-250-VAR-1

PRODUCTION SHEET

WEIGHT: 

A3

SHEET 7 OF 12SCALE:1:5

DWG NO.

TITLE:

QMF49-DT ISSUE1 01-10-12

SPRING COLLARS

NOTES



Contact your local K-Tech dealer for more details at 
www.ktechsuspension.com/service-centres-and-partners

 Copyright K-Tech Suspension Ltd 2017©

www.ktechsuspension.com


